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QUESTION 1

You need to create the constraint for the ML seat selection. Which expression constraint should you use?
A. Implies[Trim==Legend,Seat==ML]

B. Seat!=ML

C. [Trim==Legend|Seat==ML]

D. Implies[Seat==ML, Trim==Legend]

Correct Answer: D

Reference: https://docs.microsoft.com/en-us/dynamics365/supply-chain/pim/expression-constraints-tableconstraints-
product-configuration-models

QUESTION 2

HOTSPOT

You need to configure each item for plastic manufacturing.

Which production types should you use? To answer, select the appropriate option in the answer area.
NOTE: Each correct selection is worth one point.

Hot Area:
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Correct Answer:
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QUESTION 3

DRAG DROP

A company uses Dynamics 365 Supply Cham Management.

Several production orders are in the started status.

An issue with equipment causes a rollback in the production status tor some of the orders.

Some orders must be reset once the equipment is repaired, based on which products were being manufactured.

You need to reset the production orders based on the requirements
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Which status should you use for each requirement? To answer, drag the appropriate statuses to the correct
requirements. Each status may be used once, more than once, or not at all.

You may need to drag the split bar between panes or scroll to view content.

Select and Place:

Statuses

Created
Ended
Estmated

Released

Requirement Status

The report as finished quantities need to be reverted but retain the
production pbs that were (reated

The production jobs need 10 be deleted but retain the calculated
item consumption calculations.

Correct Answer:
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Statuses
Esumated
Releated
Requirement Status
T ™ - - - & Bt ."‘_i'h."..'-eﬂ
The report as finished quantities need to be reverted but retain the
production obs that were (reated
Created

The production Jobs need 10 be deleted but retam the calculated
item consumplion calculations

QUESTION 4

You are the production supervisor in charge of setting effective cost prices for the labor force in a manufacturing
company.

It is the end of the year and the labor rates have been recalculated based on new salary data. You need to update the
effective labor costs for all labor groups.

Which element must be updated?

A. cost groups

B. cost category

C. resource group

D. shared category

E. production orders

Correct Answer: B

A cost category is a classification of costs that are related to an operations resource or a routing operationl. A cost
category can have one or more cost elements, such as labor, machine, subcontractor, or materiall. A cost element

represents

a specific type of cost that is incurred for an operations resource or a routing operation2.
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To update the effective labor costs for all labor groups, you must update the cost category that is assigned to the labor
groups. You can use the Cost categories page to modify the cost elements and rates for the cost category3. You can
also

use the Costing versions page to create a new costing version with updated cost categories and activate it for future
production orders.

QUESTION 5

A client subcontracts production work to a vendor for production operations. You need to model subcontracting of route
operations in production orders.

Solution: Ensure that cost control allocates subcontracted work in its own cost breakdown block.

Does the solution meet the goal?

A. Yes

B. No

Correct Answer: B

There are two methods for modeling subcontracting work for production operations. These methods differ in the way

that the subcontracting process can be modeled, the way that semi-finished products are represented in the process,
and the way that cost control is managed.

*

Subcontracting of route operations in production orders or batch orders The service product must be a stocked product,
and it must be part of the BOM. This method supports first in, first out (FIFO) or standard cost. Semi-finished products

are represented by the service product in the process. Cost control allocates the costs that are associated with
subcontracted work to the material costs.

Subcontracting of production flow activities in a lean production flow The service is a non-stocked service product, and
it isn\\'t part of the BOM. This method uses purchase agreements as service agreements.

This method uses backflush costing.

This method allows for aggregated and asynchronous procurement. (Material flow is independent of the procurement
process.)

Cost control allocates subcontracted work in its own cost breakdown block.

Reference: https://docs.microsoft.com/en-us/dynamics365/supply-chain/production-control/manage- subcontract-work-
production

Latest MB-335 Dumps MB-335 Practice Test MB-335 Study Guide

Latest MB-335 Dumps | MB-335 Practice Test | MB-335 Study Guide 717


https://www.geekcert.com/mb-335.html
https://www.geekcert.com/mb-335.html
https://www.geekcert.com/mb-335.html
http://www.tcpdf.org
https://www.geekcert.com/mb-335.html
https://www.geekcert.com/mb-335.html
https://www.geekcert.com/mb-335.html

